
I/
O

 B
o

a
rd

D
S

P
 B

o
a

rd

A
lu

m
in

u
m

S
u

b
-c

h
a

s
s

is

Controls Board

SDR Cube
Dec 30, 2010

S
o

ftro
c

k
 R

X
T

X
 6

.3
 a

s
s
y

MECHANICAL ASSEMBLY

Spacer, #2 threaded, aluminum,
                                   9/16" (4 places)

Screw, #2-56, pan head, 1/4" (4 places)

Nut, #2, 1/16" (4 places)

Screw, #2-56, filister head, 1/4" (4 places)

CONTROLS BOARD - TO - CHASSIS
LCD - TO - CONTROLS BOARD

Spacer, #2 threaded, nylon, 3/8" (4 places)

Screw, #2-56,  filister head, 1/4" (4 places)

Screw, #2-56, pan head, 1/4" (4 places)

TXPA
MODULE

RXAMP
MODULE Screw, #4-40, 1/4" and nut (2 places)

SUBCHASSIS - TO - CHASSIS

Screw, #4-40, 1/4" sheet metal screw (black) (2 places)

Screw, #4-40, 1/4" (4 places)

Screw, #4-40, 1/4" (4 places)

Spacer, #4 threaded, aluminum, 1/4" (4 places)

SOFTROCK - TO - SUB-CHASSIS

I/O BOARD - TO - SUBCHASSIS

Screw, #4-40, 1/4" (4 places)

Screw, #4-40, 1/4" (4 places)

Spacer, #4 threaded, aluminum, 1/4" (4 places)

BNC: Ground tab

DB-15S: Screw, #4-40, 1/4" and nut (2 places)

X-LPF Board


